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184 On Eclipses.

1V.—OCCULTATION OF A STAR BY THE MOON.

GENERAL Limits oF LATITUDE.

18. ) («, and D, at true é)
D, o
tan ¢ = po— n = (diff. dec.) cosc
cosw, = F % — 2725 coswg = + + 2725

8in@ == cos 3 cos¢
L =w,—6 sinly = F cosd cos(Ws— )
W,, Wy, t, 0, same sign as §
{urper } signs when 3is { Bomiite |
When w, is impossible, /, = 90°, with the same name as S
When w, is impossible, 4, = complement of 3, with different name from 3.

CALCULATION FOR PARTICULAR Prack.
19. For the latitude of the place prepare the constants

B o =[90916] 9

which will serve for all Occultations at that place.
For the time of true ¢ find
} = sidereal time at place — right ascension of Star

and thence determine the time T, as in No. 1. For this time take out the qunntmes
P,s,D, D, «, a,; and compute

PO =pcosi @O =psinl= ¢

x = (D=3 — (p¥. PcosB-—(t)(‘) P sin 3 cos &)
y = acosd—o¢® Psinh -

z, = D, — ¢® Psin ésin h

Y, = o Cos 8 — P . Pcosh -

With these proceed as in Nos. 6 and 7, using A'=s=[9 *43537] P,

20. For the positions of the points of immersion and emersion on the limb of the
Moon, :

immersion
At .
emersion

(180°—¢)—w
(180°—) 4w

immersion _(—0)— ’
At { Sl }, angle from North towards East = {( Jtw } for inverted image.

For the same angles from the Vertex we must deduct the parallactic angle for each
time.

}, angle from North towards East= { } for direct image.

21. If an accurate calculation is wanted, proceed as with a Solar Eclipse.





